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void addq ( type item ){
if (rear ==n)
cout <<“Queue is FULL’;

else

rear+=1: sains olis “Queue is FULL ale> ol K

) front>0 5 ol MaxQueueSize
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type deleteq ( ){

if ( front == rear ){

else{

cout <<“Queue is EMPTY”;
return 0;}
N
front+=1;
item=Q|front];

return item;}
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void addq ( type item ){
int t;
t=(rear+1)%n;
if ( t == front)
cout <<“Queue is FULL’;
else
rear=t;

Q[rear]=item;
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type deleteq ( ){

if ( front == rear ){
cout <<“Queue is EMPTY”;
return 0;}

else{
front=(front+1)%n;
item=Q[front];

return item;}



